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a pear an apple cherries a strawberry

>

i

a banana

an orange a lemon blueberries

a watermelon a plum



How many are there?

There are four pears.
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apples

strawberries

cherries
oranges

bananas
pears

bunches of grapes pineapples

seven

six 7

6=

twelve

five

h=

4=four

three
ten

3=

2=two

1=one
eight 9

12=

eleven

11=

10=

hine

8=




Draw...

Three plums

Ten cherries

v

v

Five pineapples

Seven watermelons

Three apples

v

v

and two bananas

Your favourite fruit

v

v




